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S.NO. |QUESTIONS MARKS | NATURE
SECTION A (READING) 4 marks | Reading and
Read the following paragraph and answer the understanding
Q1. questions given below:

Bachendri’'s story stands as an example
of how going against your family’s wishes can be hard but
important from time to time. Raised surrounded by the
Himalayas towering around her hometown, she intended
to climb it one day and focused on becoming a
professional mountain climber. Moreover, she received a
lot of discouragement for being a girl trying to take on
such a physically challenging path. This only fuelled her
passion; she was selected to be part of an expedition to
the top of Mt. Everest. She braved being buried in snow,
fierce icy winds and even losing sensation in her toes.
She was one of the few who finally made it to the top
creating history by being the first Indian woman to reach
the summit.

Now on the basis of above paragraph, answer the
following questions:

1. Choose the correct option for the following questions:

i) What was the childhood dream of Bachendri?
a) To become an athlete

b) To climb the mountains one day

c) To become a coach

d) To become a teacher

i) Why did she receive a lot of discouragement?
a) Because she was a girl

b) Because she was weak

c) Because she was incapable

d) Because her family did not support




Q2.

2.Fill in the blanks:

i) focused on becoming a professional
mountain climber.

3. Find the opposite word of ‘favour’ from the above
passage.

4. Answer the following questions in one word:
i) Which mountains surrounded Bachendri’'s hometown?
i) What did she want to become on growing up?

5. State the following statements as True or False:
i) Bachendri’s family was happy regarding her choice of
career. [1]

Read the following lines of the poem:

Bitterly | thought that the storm had come on
Purpose to spoil my happiness all its

anger was against me.

All this long cloudy day of July | have been musing
over those games in life in which | was the loser.

Now, on the basis of the above lines of the poem, answer
the following questions:

1. Fill in the blanks:

(i) The thoughts of the poet were about the
storm.
(ii) The has spoilt the poet’s happiness.

2. From the above lines of the poem, find out the rhyming
words of :

® gone-

(ii) fusing -

3. Find the opposite word of ‘winner’ from the above
stanza of the poem.
4. Answer the following question in one word:

0] In which month has the poet been musing?

3.5marks

Q3
Q4

SECTION-B (WRITING)
\Write the dialogues between a teacher and the student.
Write a letter to your friend describing him about the

horror movie which you have recently watched with your
family members.

4 marks

3.5 marks

Critical and
creative thinking,
Imagination and
constructive skills




Q5

Q6

Q7

Q8

SECTION - C (GRAMMAR)

Choose the correct option for the following
guestions:

() The superlative degree of ‘clever’ is
(a) cleverer (b) cleverest (c)
cleverest

(i) Antonym for the word ‘beautiful’ is
(a) handsome (b) pretty (c) ugly

(i) There are types of conjunctions.
(a) two (b) three (c) four
(iv) Examples of Non-finite verbs
(a) Infinitives (b) gerunds (c) both

()] Identify the type of pronoun in the given
sentence.
Whose is this untidy chart?
(a) Demonstrative (b) Interrogative (c)
Personal

Fill in the blanks as directed:
® Fill the appropriate Interrogative pronoun from
the words given in the bracket:
...... is the matter with you? (What /Who /
Whose)
(ii) Fill in the blank with an appropriate
interjection:
............. ! She is no more.( Wow / Alas /
Bravo)
(iii) Fill the appropriate Preposition from the words
given in the bracket:
Mix a pinch of salt and pepper ........ cheese.
(with / on / from)
(iv)  Fillin the blank with present continuous
tense.
He o today.
(is arriving/ was arriving/ has been arriving)
(v)  Fill in the blanks choosing the suitable
antonym of the word given in bracket.
Hehadagreat ............ (gain) on sale of
building.
(lose/lost/loss)
State the following statements as True or False:

0] Antonym of humorous is witty. []
(ii) He will be coming tomorrow. []
(iii) More beautiful is the comparative degree of
‘beautiful’. []
(iv) | was born on May. [1]
(v) Rashi has done M.A. in psychology [1]

Answer the following questions in one word:

(1) “The goal was saved by Rohan”. This
sentence is in which voice?

(ii) The comparative degree of the adjective
‘cunning’ iS.................

(iii) “Not only....... but also” is the example of

2.5marks

2.5marks

2.5 marks

Understanding ,
analytical skill,
Interdisciplinary




Q9

Q10

Q14

(iv) A word similar in meaning to the other word is
called ....................
(V) A word placed before noun or pronoun is
called
Rewrite the following sentence by using punctuation
marks.
(i) rajni teaches sanskrit
(ii) geetas parents are living in the us
(iif) whose pen is this
(iv) wow this painting is beautiful
(v) our teacher says the earth revolves around the
sun
MCQ
(i) The shortened form of will not is
(@) willnt ~ (b) won't  (c) willn’t
SECTION - D (LITERATURE)

Fill in the blanks:

® Andrew plucked from Mrs Jones
backyard.

(i) wrote about the need for
reforms in hospitals.

(iir) People can travel and by the
metro.

(iv) Magician changed a stick into a
(v) Andrew has planned to go with his friends to
pluck

Reference to context :

“When Nightingale was about 16 years old, she
decided to take up nursing and spoke to her family about
it. Her parents were completely against it.”

(i) What was the age of Nightingale?

(i) What she decided to take up?

(iii) Does her family happy with her decision?

Answer the following questions in short :

0 In what ways India’s success ‘extra special’ in
Commonwealth Games 2018?
(ii) How did the priest make the puppets?
(iii) What helped Tenali Rama defeat the
magician?
Long Answer Question.
What is the message of the poem “The paper boat”?

2.5marks

2.5marks

Imarks




Q11

Q12

Q13

Q14

SECTION - D (LITERATURE)

Fill in the blanks:
(vi) Andrew plucked from Mrs Jones
backyard.
(vii) wrote about the need for
reforms in hospitals.
(viii)  People can travel and by the
metro.

(ix) Magician changed a stick into a
(x) Andrew has planned to go with his friends to
pluck

Reference to context :

“When Nightingale was about 16 years old, she
decided to take up nursing and spoke to her family about
it. Her parents were completely against it.”

(i) What was the age of Nightingale?

(i) What she decided to take up?

(iii) Does her family happy with her decision?

Answer the following questions in short :

(iv) In what ways India’s success ‘extra special’ in
Commonwealth Games 20187
(V) How did the priest make the puppets?
(vi) What helped Tenali Rama defeat the
magician?
Long Answer Question.
What is the message of the poem “The paper boat”?

2.5marks

3marks

3marks

3marks

Evaluation,
Understanding,
Critical thinking
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QUESTIONS

MARKS

NATURE

Fill in the blanks.

(ia) Decimal having equal number of decimal places are called

(b) Sum of the quantities = Average X
(c) The points which do not lie in a straight line are said to be

(d) The amount of space occupied by an object is called its

4X1=4

State ‘True’ or ‘False’ for following statements.

(a) Profit=CP - SP

(b) Line of symmetry divides an object into two identical mirror images

(c) The number that can be arranged in a triangular pattern are called Triangular
numbers.

(d) Pictures are used to represent data in Pie chart.

4X1=4

Tick the correct answer from the given options:
Number of times a particular value in data occurs itself is called
(a) Data 18
(b) Frequency
(c) Array
(d) None of these
® The area of a rectangle of length 8cm and breadth 6¢cm is
(a) 12 sq cm
(b) 24 sq cm
(c) 36 sgm
(d) 48 sq cm

(i) Number of times a particular value in data occurs itself is called
a) Data
b) Frequency
c) Array
d) None of these

(iii) 9:15 pm in 24 h clock is
(a) 1815 hours
(b) 2015 hours
(c) 2115 hours

4X1=4




(d) 2315 hours

Match the following columns:

a.) 49
b.) 45
c.) Obtuse angle
d.) Acute angle

(i) An angle with measure 60° is an
(i) An angle with measure 150° is an
(iii) A square number

(iv) A triangular number

Solve the following questions: - 6X2=12
Q5. Write the 10th triangular number
Q6. Two angles of a triangle are 65° and 35°. Find the third angle of the triangle.
Q7The perimeter of an equilateral triangle is 29.7 cm. Find the length of each
side of the triangle.
Q8 What time will it be 6 h 45 min after 9:40 pm?
Q9. Find the profit or loss if CP = 1000;and SP = "975
Q10. Convert the following into units as mentioned in brackets.

(1) 25km (‘as m)

(ii) 5m 30 cm (as cm)

4x3=12

Solve the following questions: -

Q11 Make a list of the letters of the ‘English alphabets’ having
(a) vertical line of symmetry
(b) horizontal line of symmetry
(c) having both horizontal and vertical line of symmetry

Q12. Read the bar graph given below shows the number of students of
class 5 who attended class during the week and answer the

following questions
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Q13. Find the average marks of a class in Mathematics, if the total marks is

2400 and the strength of the class is 40
OR

A box is 15.2cm long, 7.5cm wide and 4 cm high. What is the volume of the box.

Q14. Mr Sharma bought a house for [1 6,20,000 and paid [ 30,00 for furnishing

the house. If he sold it for 1 7,00,000, what is his loss or gain
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1 Tick the correct options: 5x1=5 Information

i. Project Tigers was launched in the year
a. 1971 b. 1972 c. 1973 d. 1974

ii. The main occupation of India
a.Fishing b. Farming c. Industry
d. All of these.

iii. Boat houses are found in
a. Tamil Nadu b. Kerala c. Rajasthan d. Maharashtra

iv.The shaking of Earth is known as
a. Earthquake b. Earth damage c.Bothaandb
d. None of these

v. It is an invertebrate animal
a. Jellyfish b. Dolphin c. whale d. turtle

2 Match the following. 4x1=4
1.LPG jaipur
2. Hawa Mahal India
3. Mixed farmer Domestic fuel
4. ISRO crops & livestock
3. Fill in the blanks. 4x1=4 Understand
ing
1. Golden Temple is situated at................
2. Wateris............... solvent
B man made disaster

4. Jim corbett National Park is located in.............

4 Differentiate between 2x1=2

i. Soluble and insoluble substance

ii. Tenant farmer and commerical farmer




True and False

1. Adding manure in the soil it decreases its fertility ()
2. Charminar is located in New Delhi ( )

2x1=2

Question based on Atlas
1. Longest river in Assam

2. Garo and Khasi hill situated at

3. Post harvest festival of Assam----------------

3x1=3

Odd one out from the given

1. Cyclone, Earthquake, Drought ,War

2. Charminar, Golden Temple , Taj Mahal ,Statue of Liberty

2x1=2

Short answer type questions.

1. Why do we need a simple machine?

2. What are heritage buildings?

2X2=4

Answer the following question in detail:

1. Why are mix farmer at the lower risks?

2. What are the artificial satellite useful?

2X3=6

Analytical
Skill




10 1. Draw the diagram of different stages of farming 1x2=2
Ploughing field
?
weeding
Adding ? , ?
11 . Case based study question: 2x2=4

The resources that we get from nature are called Natural
Resources. Air, water ,sunlight, soil, forest and minerals are the
natural sources.

Natural resources are of two types- renewables natural resources
on non- renewables resources.

Renewables Natural Resources are the reources which can quickly
regenerate after use such as air, water, soil, sunlight ,etc.

Non-renewables resources are the resources that take a long time
to be regenerated such as coal and Petroleum etc

Q1 what is understand by renewables natural resources?

Q2 what is understand by non-renewables resources?




1. Locate the following points on the political pam of india. 2x1=2
a. Andhra pradesh  b. tripura
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1. Tick the correct answer.

1. The message written in capital letters is called
a. Bounced
b. Shouting
c. abbreviation

2. is a numeric value that does not include a
decimal point.
a. String
b. Integer
c. Boolean

3. The Excel worksheet contains sheets called
a. Worksheet
b. Workbook
c. Sheettab

4. The block is formed when we insert a Repeat
block inside another Repeat block.
a. Nested Repeat
b. Repeat loop
c. Repeat Until

1/2X4=2

Interdisciplinary




Fill in the blanks. 1/2X4=2 | Analytical Skill
1. The intersection of a column and a row is called
2. The block is a control block which runs the
script for an number of times.
3. Smileys are also called .
4. A computer only understands digits directly.
Answer the following. 1 X6=6 Analytical Skill

ouhrwnNE

What are variables?

Name three domains of Artificial Intelligence.
What do you mean by Flowchart?

What is the use of Microsoft Excel?

What is Clinical Trial Matching (CTM)?
What is the use of broadcast in Scratch?
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1. Name a city located on the bank of river Thames.

3.Write an example of Homophones.

Subject: G.K Assignment No. : 9
Allotment Date: 10 February 2024
S. Questions Marks Nature
No.
1. Fill in the blanks: 1x4=4 Problem
(i) “Arthshastra” is written by.............. solving
(i) tissue connects muscles to bones.
(i) Tokyo (Japan) is situated on the ban of river..............
(V) mountain draw border between
Asia and Europe.
2. State the following statements as True or False: 1x4=4 Information
0] Red colour is in the centre of Rainbow. [ ]
(ii) Hemkund Sahib is one of the most sacred places for
Christians. [ ]
(iir) Barack Obama became the first African American
President of United State in 2008. []
(iv) Term “Googly” is associated with Cricket.
[]
3. Match the following columns: 1x4=4 Understanding
A B
(1) National Science centre North Africa
(i) Vaishno Devi New Delhi
(iir) ATLAS Jawahar Lal Nehru
(iv) Discovery Of India Jammu & Kashmir
4. Answer the following questions in one word: 1x4=4 HOTS




Identify the following pictures:

(d)

1x4=4

Analytical Skills




